Table 1 - Valuing Financial Flexibility 

Assume that the sunk cost of investment (I) = 21. The investment in B provides $1 of real pre-tax CFs/ year.
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Varying
Int. Rate









(1)
2
7
15
34
40
-0.06
30
9
2.66
11.66

(2)
2.5
7
15
34
40
-0.06
24
3
1.91
4.91

(3)
3
7
15
34
40
-0.06
20
-1
1.46
0.46














Varying
Volatility









(4)
3
4.5
15
34
40
-0.06
20
-1
0.96
-0.04

(5)
3
5
15
34
40
-0.06
20
-1
1.06
0.06

(6)
3
5.5
15
34
40
-0.06
20
-1
1.16
0.16

(7)
3
6
15
34
40
-0.06
20
-1
1.26
0.26














Varying 
A









(8)
3
7
15
30
40
-0.10
20
-1
1.51
0.51

(9)
3
7
15
35
40
-0.05
20
-1
1.45
0.45

(10)
3
7
15
40
40
0.00
20
-1
1.43
0.43

(11)
3
7
15
45
40
0.05
20
-1
1.45
0.45














Varying
Percent of
Profit that
is Hidden







(12)
3
7
5
34
40
-0.06
20
-1
0.47
-0.53

(13)
3
7
10
34
40
-0.06
20
-1
0.97
-0.03

(14)
3
7
15
34
40
-0.06
20
-1
1.46
0.46

(15)
3
7
20
34
40
-0.06
20
-1
1.94
0.94













where CF = Cash Flow, PV = Present Value, and F(() = Value of Financial Flexibility
